Pt. Govind Ballabh Pant Government
Museum is situated at—

(A) Almora

(B) Udham Singh Nagar

(C) Haridwar

(D) Champawat

‘Bharat Heavy Electricals Limited’ is located
at—

(A) Dehradun
(C) Nainital

(B) Haridwar
(D) Kotdwar

The first DGP (Director General of Police)
of Uttarakhand—

(A) B. S. Sidhu

(B) J. S. Pandey

(C) Ashok Kant Sharan

(D) None of these

Match the List I to List II—

Code—

List I (Tehsil) List IT (Districts)
(a) Joshimath (1) Pithoragarh
(b) Berinag (2) Udham Singh Nagar
(¢) Rudrapur (3) Uttarkashi
(d) Barkot (4) Chamoli
(a) (b) (© (d)
(A) 4 1 2 3
B) 4 2 1 2
(C) 4 3 2 1
D) 2 4 3 1
‘Roop Kund’ is located at—
(A) Pithoragarh (B) Chamoli

(C) Rudraprayag (D) Nainital

Vegetative propagation in mint occurs by—
(A) Runner

(B) Offset
(C) Rhizome
(D) Sucker

5.

6.

SET-A
g. Ma= gy 94 T9Hg queay g
(A) 3reHreT

(B) Ty fHg TR

(C) #ER

(D) ==rEd

qRa oo soifesa fafres fem -
(A) <BUA (B) =GR
(C) Fraret (D) FiER

ITCETE TE % YUY faw mefRvs
o

(A) &1, TH. fay

(B) S. TH. UvE

(C) 3N H A

(D) TH ¥ ®FE &

a1 &1 e gt 11 & fifm—
gdr 1 (qedia) g 11 (Rram)
(a) SeTHS (1) frdrmre
(b) I (2) T4 Re TR
(c) B29T (3) ST
(d) S3HI2 (4) ==

@_

(

i)

)

—
--.—auue,

(A)
B)
©
(D)

ST A
-
—

S S

‘Tuve’ fem 2-
(A) freimg
(C) T=5amT

(B) Twiet
(D) Fra=

EH A wifaE yadT frd e 2
(A) SURYER

(B) g=iftamt

(C) ==

(D) 3= ‘1}?11‘&
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10.

1.

12.

13.

14.

The plant part which consists of two
generation one with in the other, is—

(A) Germinated pollen grain

(B) Embryo

(C) Unfertilized ovule

(D) Seed

Two rigid pointed hook-like structure are
present in—

(A) Martynia
(C) Xanthium

(B) Cleome
(D) None of these

The short day winter annual pansy belongs
to genus ?
(A) Iberis
(C) Mahua

(B) Viola
(D) None of these

Leathery eggs are found in—
(A) Amphibians

(B) Reptiles

(C) Birds

(D) Prototherian mammals

In old age memory—

(A) Increases

(B) Impaired

(C) Remains same as in young age
(D) None of these

Which one of the following represents a test
Cross—

(A) Ww x WW
(C) Ww x ww

(B) Ww x Ww
(D) WW x WW

Incomplete dominance is shown by—
(A) Primrose (B) Mirabilis
(C) Helianthus (D) China rose

Who wrote “Geet Govinda”™—
(A) Tulsidas
(B) Jai Ram
(C) Tukaram

(D) None of these

7

10.

11,

12.

13.

14.

" SET-A
g F1 g wim foed @ G R S
F
(A) 3HE TR
(B) qm
(C) FiFafaa e
(D) &=

3 —

(A) fadifn o
(C) Siferam o

(B) Fismd |
(D) 5 | HE el

3R f&7 gen fa=t dun A i R
9 $ iqa o § ?

(A) e (B) grEn

(C) \gsn (D) ¥ | &E &

=1 (Leathery) 208 firem &
(A) 3HT= H

(B) 9l o

(C) uftgai #

(D) Wit wf=l o

g § TR i W 9" ISl ©
(A) 5 St &

(B) rgfiva & vt @

(C) gameeen & §9F @l ©

(D) T ¥ &g =&

7= ¥ w[ @ R wiE # Wiy &
T

(A) Ww x WW (B) Ww x Ww
(C) Ww x ww (D) WW x WW
(A) Tt (B) frufsem
(C) efaTem (D) IEARH
‘g Mg B AR ®E G-
(A) TEEIRE

(B) 5@ ™

(C) g1

(D) SR § HIE & 2072



15.

16.

17

18.

19.

20.

21.

22,

23.

Fathometer is used to measure—
(A) Earthquakes (B) Rainfall
(C) Ocean depth (D) None of these

The Battle of Plassey was fought in—
(A) 1757 (B) 1782
(C) 1748 (D) 1764

Who lead the ‘Narmada Bachao Andolan’ ?

(A) Sundar Lal Bahuguna
(B) Medha Patkar

(C) Rajeev Dixit

(D) Chandi Prasad Bhatt

Allahabad inscription was issued by—
(A) Chandragupta I

(B) Samudragupta

(C) Ramagupta

(D) Chandragupta I

In which year the Tata Iron and Steel
Company was set up—

(A) 1910 (B) 1900

(C) 1907 (D) 1890

Hall mark certification is related to—
(A) Textiles (B) Grocery
(C) Services (D) Gold

Universal blood donor belongs to the blood
group—
(A) A
(ORY

(B) B
(D) AB

Human Rights Day is observed on—
(A) December 1 (B) December 3
(C) December 10 (D) None of these

How many seats in state assembly of
Uttarakhand—
(A) 70
(C) 13

(B) 79
(D) 5

15.

16.

17.

18.

19,

20.

21.

22.

23,

SET-A

eirier 1 SYENT T A # fear i g
(A) THFH (B) =i

(C) 9% &Y TeWE (D) ST | &3 TEl
o 1 @en R Td wel |-

(A) 1757 (B) 1782

(C) 1748 (D) 1764

T TEiell Ao &1 Agd feed T ?
(A) =X <l SIghen

(B) HHT AL

(C) TSt Sifera

(D) TvEl YHR HWeL

TORER fieE 39 S fea-
(A) 3= 1

(B) ST

(C) T

(D) === 1

T HEE ¢ 0 WA A F TG F
T2

(A) 1910 (B) 1900

(C) 1907 (D) 1890

Biel |k WHIOMEHOl THE FHEteE g
(A) T8 (B) Tt

(C) Famg (D) T
aE fFE 0 & W@ W e g
(A) A B) B

(©) 0 (D) AB

e SfusR faag WA s g
(A) feam | (B) fewwart 3
(C) femw=r 10 (D) 1 4 = &

ITEE 9 ¥ faum w9 = fau feaA
il )
(A) 70
(©) 13

- (B) 79
D) 5
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24.

25.

26.

27,

28.

29.

In the following which district has the lowest

population (in Uttarakhand)}—
(A) Dehradun (B) Nainital
(C) Bageshwar (D) Haridwar

Two infinite length wire carry current 8 A
and 6 A respectively and are placed along x
and y-axis. Magnetic field at a point P(0, 0, d)
in will be—

dhy 10
(A) —4 B) —4

14 p, 71,
© — O —5
Susceptibility of ferromagnetic substance is—
(A)>1 B) <1
©0 (D) 1

When power is drawn from the secondary coil
of the transformer, the dynamic resistance—
(A) Decrease :

(B) Increase

(C) Remains unchanged

(D) None of these

A photon and an electron have equal energy
E. X noton/ ™ is proportional to—

(AY VE
1
B &

electron

1
© 3
(D) Does not depends upon E

Electric potential is given by

V = 6x — 8xy? — 8y + 6yz — 422

Then electric force acting on 2C point charge
placed on origin will be—

(A) 2N (B) 6N

(C) 8N (D) 20N

- 24,

25.

26.

27

28.

29,

SET-A
e A | forg o0 &) SHOE gad $H
(ITqETE THF H)—

(A) TEEA (B) e

(C) Sr¥a (D) =fEr

T T AEE F AR W AT 6 AT
U 9 Wl & W 5% FAN: x JY a9l y
% iy W@ ™ #1 fag PO, 0, d)m W
TEHE &F T

Suy 108,
(A) nd B) nd
14 p, TH,
(3 nd ) nd
e g Qi w1 g & A g
(A)>1 (B) <1
©0 D) 1
Sa TFAETR &1 fgdias free | e o
H W € a9 T g
(A) =&
(B) =&
(C) srufafda @m
(D) T4 ¥ &5 7
TF TR 3 T ToieeH F ol 99H E 7
D! Mg TR BT
A VEF
1
iy
(C)%%
(D) E R fasik =& =wan
foma fawa foret wedfteme g fean mn @
V = 6x — 8xy? — 8y + 6yz — 42°
WA fog W@ 2CF 9[{y | @F 4
q B
(A)2N (B) 6N
(C) 8N ... (D) 20N
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30. Inthe circuit shownbelowE, =4.0 V,R, =2

3k

32.

33.

34.

5.

Q,E,=6.0V,R,=4Qand R, =2 Q. The
currentltis:
R,=20Q

i} VAAAAS

I
51:4\/
~

(A) 1.6 A
(C) 1.25A

(B) 1.8A
D) 1.0A

If a wire of resistance 20 Q is covered with
ice and a voltage of 210 V is applied across
the wire. Then the rate of melting of ice is—
(A) 0.85¢g/s (B) 1.92 g/s

(C) 6.56 g/s (D) All of these

Otitis media (inflammation of middle ear) is
caused by—

(A) Virus

(C) Bacteriophage

(B) Bacteria
(D) Mycoplasma

Amoeba stops producing pseudopodia during—
(A) Alkaline condition

(B) Starvation

(C) Active condition

(D) Touch

VAM represents—

(A) Saprophytic fungi
(B) Symbiotic fungi

(C) Saprophytic bacteria
(D) Symbiotic bacteria

Which is vivipary—
(A) Whale, Rabbit
(C) Snake, Lizard

(B) Frog, Kangaroo
(D) Cockroach, Aves

30.

31.

32.

33.

34.

. SET-A
= & m ftwer F B, =4.0V,R,=20Q,
E,=60V,R,=4QWAR,=2Q & d um
I, erf—

Ri=2Q

1I
E2=6V

(A) 1.6A
(C) 1.25A

(B) 1.8A
(D) 1.0A

7% 20 Q ¥ Y a1 TF AR F 9% 9 =%
& ST qen 210 V &1 diees ark & il W
T WA A T6 B e #T O E—
(A) 0.85 g/s (B) 1.92 g/s _
(C) 6.56 g/s (D) SWIT T+t

sffefeq Hifem (wem #vi & g=q) @

3
(A) 9@ ¥ (B) Ffen ¥

(C) IRMEFT ¥ (D) Tedra q

st R SRM TeuR A a= w
(A) &g mrem o

(B) @ % T4

(C) 3=y meaq §

D) T W

VAM =3ifar 8-
(A) HarTsEt Fa®
(B) HgSiEl FHasw
(C) Targsiiat ey
(D) wesitat sfamy

1 o & FF = g -

(A) =, T (B) HeF, BME
(C) 91, fBuswelt (D) Fiww, Ta
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36.

37.

38.

39.

40.

41.

42.

43.

44.

The animals which come out during night

and hide during day are called—
(A) Diurnal (B) Nocturnal
(C) Arboreal (D) Crusorial

One of the common enzyme found in
peroxisome is—

(A) Hydrolase (B) Catalase

(C) Dehydrogenase (D) Reductase

Which level of protein structure is affected
by DNA—

(A) Tertiary structure

(B) Secondary structure

(C) Primary structure

(D) Quaternary structure

Which of the following is not a flower—
(A) Rose (B) Lotus
(C) Passion flower (D) Sunflower

Tricarpellary axile placentation is
characteristic of—
(A) Solanaceae
(C) Liliaceae

(B) Malvaceae
(D) None of these

Cuticle is absent in—
(A) Mesophytes
(C) Mature stems

(B) Young roots
(D) Leaves

Prostaglandins are—
(A) Amino acid
(C) Fatty acid

(B) Steroid
(D) None of these

Hypothyroidism causes—
(A) Myxodema (B) Cretinism
{C) A & B both (D) None of these

Vegetative propagation in Pistia occurs by—
(A) Stolen (B) Offset
(C) Runner (D) Sucker

36.

37

38.

s 2

40.

41.

42.

43.

44.

SET-A
98 A S i ¥ 96 A ¢ qun o fav
T ¥ FEER T

(A) TR (B) s

(C) aifaa (D) wmifEe
TRITFIEH | IR S Sl T T (Mosi
common) T9EH 2

(A) ETEZIAA (B) &arerst

() feemgifst (D) fieww

T T A = = DNA 9 il gefa
it B

(A) THas "=

(B) et g

(C) Wty gL=

(D) =qds deE

= o w7 T R

(A) T (B) F5d

(C) WA I (D) et

TR el derve=mg favar B 2
(A) TreRE Ht (B) AEEE HT

(C) faferdelt =1 (D) 3719 ¥ = 7=

Hfewel STIfeda it 8-

(A) FSFEem § (B) 7t w=f A
(C)WRgea & & (D) wfui o
TRreEE T -

(A) I e (B) ¥iigs

(C) TE 3= (D) 39 ¥ %5 &
TWNUETI S B FE0 T 2

(A) frgrEmn (B) iy

(C) Avd BIH (D) 379 ¥ *1E =&
fafem d wifas v fres g e -
(A) & (B) siEifism

©) 3R gl (D) o g

29728



45. Root development is

(A) Abscisic acid
(C) Gibberellin

promoted by—
(B) Auxin
(D) Ethylene

46. Which of the following has launched Sagar

Samruddhj Project near Mumbaji—
(A) ONGC (B) I0CL
(C) BPCL (D) HPCL

47. Who was the first Chief Election
Commissioner of India ?

(A) T. N. Sheshan
(B) I K. Gujral
(C) Sukumar Sen
(D) V.K. Menon

48. Which is the only state that touches Sikkim—
(A) Assam

(B) West Bengal
(C) Arunachal Pradesh
(D) Meghalaya

49. The Bhakra Dam is buijlt across the river—
(A) Ravi (B) Chenab
(C) Satlyj (D) Jhelum

areé nominated to the
Rajya Sabha by the President of India ?

(A) 5 (B) 7
) 51 (D) None of these

51. The first Wwoman President of UN General
Assembly—
(A) Sarojini Naidy
(B) Annie Besant
(C) Vijaylaxmij Pandit
(D) None of these

52. Dimensions of coefficient of viscosity are—.
(A) ML2T-2 (B) ML2T-!
(C) ML-IT-1 (D) MLT .

(=]

SET-A
45, rgawﬁa&hﬁm:r%mmw%‘—
(A) Uafafas s (B) anfagy
(C) faaifer (D) ez
46. ﬁwﬁﬁﬁmﬁgmé%ﬁmwwﬁg
ST H e g 3
(A) ONGC (B) 10CL
(C) BPCL (D) HPCL,
47, W#%ﬁg@qﬂma@aﬁﬁqa?
(A) 2. @ vy
(B) 373, =, Torrer
(©) gHAR @
(D) &t 3. 9=
48. fwﬁm{ﬁqs}wﬁam@wm%—
(A) gy
(B) 999 s
(C) smumaer gy
(D) Hurerg
49. T@ T x Y A T §
(A) =t (B) e
(C) Haers (D) e
0. 9T gRr ey gy % fou Ry oLt
e vt o ¥ 5
(A) 5 (B) 7
(©) 51 D) 79 T =1 32y
51. 7. @, ﬁmwﬁwqﬁmm
of—
(A) TR rrg
(B) Tt s9=
(C) T wasft qfteg
(D) 399 ¥ =¥ 73
S2. VAT ToF F fomr §
(A) ML2T=2 (B) ML2T-!
(C) ML-1T-1 (D) MLT
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53.

54.

55.

56.

57.

58.

9.

60.

If the ball is thrown vertically upwards with
speed u, the distance covered during the last
t seconds of its ascent is—

1 2 1 2
(A) St (B) ut— gt

(C) (u—gt)t (D) ut

The angular velocity of a wheel is 70 rad/
sec. If the radius of the wheel is 0.5 m, then
linear velocity of the wheel is—

(A) 70 m/s (B) 35m/s

(C) 30 m/s (D) 20 m/s

The work done against gravity in taking 10
kg mass at 1 m height in 1 sec. will be—
(A) 4917 (B) 98]

(C) 1961 (D) None of these

The energy associated with one gram of mass is—
(A) 9x10713J (B) 9x 107167
(C) 9 %1013 ] (D) 9 x 1016 ]

The number of linkage group in E. coli is/are—

(A) 4 B) 2
(©) 1 (D) 5
Linked gene are separated by—

(A) Crossing over
(C) A & B both

(B) Mutation
(D) None of these

The ratio of width to length of the Indian
National flag is—
(A)1:3
©€)2:3

(B) 3:4
(D) 4:5

The president can dissolve the Lok Sabha on
the advice of the—

(A) Speaker of Lok Sabha

(B) Prime Minister

(C) Vice President

(D) None of these

10

53

54.

35.

56.

51.

58.

59.

60.

SET-A
et i 31 SR SR F A wIT Y W@
fra W@ ®1 W H AR Ufa & fw
tYRvel § Tk g oF H T g S

B l 2
(B) ut— gt
(D) ut

1
(4) 5 gt
(© (u-gnt

wF Ifed &1 Foig 3 70 WeFAAwuS B
Iz 9fed #1 B 0.5 Hiew 2 q@ ufed =
W& A -

(A) 70 /s (B) 35 m/s

(C) 30 m/s (D) 20 m/s

10 foFm s=a9M & 1 WL S9E 96 1 GhUS
¥ R § o @ faeg fem @ w2
(A) 491 (B) 987

(C) 196 J (D) T8 ¥ FE &
@mmaﬁmawmﬁ%—

(A) 9% 10713 ]
(C) 9x1013]

(B) 9 x 10-16 ]
(D) 9 x 107

< HarE d Geadl 998 H HeAl el 2

(A) 4 (B) 2
1 D) 5
TEEE ST §UF B o—

(A) T R 5 (B) =0 T
(C) I ATE BEW (D) ¥ & =18 el

TRA ® TLT =9 H1 Gl R T E B
Iua fFE TR 2-
(A)1:3
(C)2:3

(B) 3:4
(D) 4:5

LI — 1 TS W AE G G
(A) % T Heay

(B) RY=EAT

(C) ITrezufa

(D) 9 § i &
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61.

62,

63.

64.

63.

66.

67.

68.

69.

The oath of the office ig conducted to Chief
Minister of Uttarakhang State by—

61.%@%3@%# ............ g

(A) Chief Justice of Supreme Coyrt (A) = ey F ge Areyy
(B) Governor (B) Tvrey
(C) President of India ©€) g = Tyfy
(D) None of these D) 79 § 3 7
Fee for filing RTT application ypde, 62. IWEvs § T % sifimy Sfufem
Uttarakhand RT A gy j5 ST S 3 54 B ....... 2
(A) T 10 (B) ¥ 25 (A) %10 B) 725
(©) ¥ 50 D) 100 ©) T 50 D) ¥ 100
What is FIR— 63. FIR 77 &
(A) Forensic Inspection Report (A) BRfs TR fgs
(B) First Informatiop Report (B) 3o = g
(C) First Interng) Report (C) 72 srafgs i
(D) None of these (D) 79 ¥ 5y &
The element apsen; in RNA js— 64. RNA Y STy ey &
(A) Nitrogen (B) Sulphyr (A) rggrerm (B) Tew
(C) Oxygen (D) Hydrogen (C) sty (D) Trgim
Nucleic aciq S€quence data bage jg__ fFTH ey F1 ST ¥y BT &
(A) EMBL (B) NCBI (A) EMBL (B) NCBI
(C) DDBjJ (D) All the aboye (C) DDByJ (D) S9i5a gsft
Phosphodiester bond is present in— 66. mﬁﬁm T Ty Sy 2-
(A) ATP (B) ADP (A) ATP (B) ADp
(C) cAMP (D) None of thege (C) camp D) 9 ¥ 5 557
The one which js capable of selfreplication js 67. 17 ¥ 3 35 T % o wamy -
(A) DNA (B) RNA (A) DNA (B) RNA
(C) Enzyme (D) Protein (©) =y (D) s

The basis of DNA finger printing js—_

68. DNA fom fijfi = SR 77 2
(A) The double helix

(B) Errors in bage sequence (B) ax ST F 3fe

© Polymorphism in sequence (©) eqm Ft Eftaun

(D) None of these D) ¥ F 5 7

Trade name of genetically engineereq insulin 69. Wila%lﬁfmm Sty T #1 3 9
Is— F B—

(A) Anulin (B) Beta Insulin (A) THferm (B) T Fgferm

(C) Humilin (D) Gilbert’s ingyjjp (C) gfaferm (D) frerae gegfery



70.

7k

72.

73.

74.

75.

76.

171

78.

Identify the plasmid—
(A) AIUI (B) Hrid I1I
(C) EcoRI (D) None of these

Telegram servicesin India has been wound up in—
(A) July 2013 (B) July 2014
(C) January 2015 (D) None of these

PPP model stands for—

(A) Public Private Partnership
(B) Public Politician Partnership
(C) Political Pressure Partnership
(D) None of these

AADHAR card contains a—
(A) 8 digit number

(B) 10 digit number

(C) 12 digit number

(D) 16 digit number

Saina Nehwal is known for her achievement
in—

(A) Lawn Tennis
(C) Table Tennis

(B) Badminton
(D) Boxing

‘Milam’ glaciers is situated at—
(A) Uttarkashi (B) Rudraprayag
(C) Dehradun (D) None of these

AERIES observatory is located at—
(A) Dehradun (B) Nainital
(C) Almora (D) Champawat

*Wadia Institute of Himalayan Geology’ is
situated at—

(A) Haridwar
(C) Dehradun

(B) Almora
(D) Chamoli

‘Asan Conservation Reserve’ is located at—
(A) Dehradun (B) Chamoli
(C) Tehri (D) Pithoragarh

12

70.

1.

72.

73.

74.

0.

76.

7.

78.

SET-A
S HI TG HIfTT—
(A) AIUI (B) Hrid III
(C) EcoRI (D) ¥4 9 = &l

ad o fenm 9o w9 gura S m-

(A) S5 2013 (B) S[@E 2014
(C) SFad 2015 (D) 9 | =13 &l

9 bt 4 Hied w1 e 2
(A) it A TR
(B) dfserah Gifaifee™ ure-RieTg
(C) Ufafewel IR g
(D) T ¥ = &

YR H1E fFa w1 1 2 83—
(A) 8 3THI I
(B) 10 i <
(C) 12 i
(D) 16 3T 1

qrE J8ae w1 59 @9 § Iuafwei #
o S S 2

(A) & (B) d=fiqueq

(C) fa= g (D) =it
‘e’ TR Fal feum 2—

(A) AT (B) WA

(C) T&TH (D) T 9§ +15 &
‘T’ Sfsgaed frem 2

(A) Z&UEA (B) “rara

(C) e (D) =¥ rEq
‘aifean ferremm gfewm geam’ femg -
(A) FER (B) 2redraT

(C) 37TgA (D) =mHieft

‘e FHEyE e frag 2

(A) TE0gT (B) =t

(C) fe=di (D) Tuethrrg
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79. In the following which Dam/Dam located
at Uttarakhand__

(A) Tehri Dam (B) Kisho Dam
(C) Kothar Dam (D) All the above

80. How many Nationalised banks are Operating
in India at present—

(A) 19 (B) 29 (A) 19 (B) 29

©) 10 (D) None of these ©) 10 D) 79 3 3%
81 The First Factories Act g enacted in— 8. ol %t sty T, gam—

(A) 1881 (B) 1885 (A) 1881 (B) 1885

(C) 1897 (D) 1895 (C) 1897 (D) 1895
82. Bird Flu affects— 82. o W % ywifr w -

(A) Cattle (B) Poultry (A) #avit (B)

(C) Sheep (D) None of these (C) 9z D) ¥4 ¥ 5

83. Long term Mmanagement of hyperca!cemia
does not include—
(A) Bisphosphates (B) Hydration
(O) Calcitonin (D) None of these

83. mﬁ@m%w aaaﬁ:mﬁqa
M Tf 3
(A) Tawice (B) Srergrey
(C) wafaafm D) 79 @ =¥

84. How many pairs of chromosomes g, 84. oSt ¥ gy T’ gig 8-
chimpanzeeg carry— (A) 24 (B) 48
(A) 24 (B) 48 (C) 49 D) 9 3 #%¢ o
(C) 49 (D) Nore of these

85. Which structure is calleg tongue of cockroach— 85. FM T w23 foererzzr 1 sy 5y &
(A) Labium (B) Labrum (A) 3tywrg (B) 3
(C) Hypopharynx (D) Mandible (C) Ty (D) Srer

86. The skull of frog and rabbit are__ 86. Hew sk F @it 8-
(A) Dicondylic (B) Monocondylic (A) (B)
(C) Tricondylic (D) None of these (C) Preemer D) 9 9 #7¢ 7

87. Animals gets nitrogen directly through— 87. SR w5 TR WY T 81T firerar &
(A) Nitrogen fixation(B) Plants | (A) 5T fafro (B) g&fy
(C) Bacteria (D) None of these

88. Who is the present Chief Secretary of 88. TR ¥ Iergue ¥ gy giay I
Uttarakhand Governmen;.__ :

(A) Rakesh Sharma (B) S. Raju
(C) N. Ravishankar (D) RK. Sudhanshy
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Frdor—( WY HE 89-92 ) T He et
el & W fafee-

g aEuE fae) queEt & et 9
e & § TeEyel ArEE @ fet T &
AT TEE F| SR HET S T YOn @ A
FAFT T SUHE GEA Wed o wiaendl H
TETEA | HIGHEIE & Fgarh 89 & HRor 4
fReR g

89, T faw] WEH F 1 & ?
(A) HUEH (B) wifaait
(C) v/ (D) ®fa

90. =g fosy w1 qEA Aed F1 A1 ?
(A) HifaeRr S
(B) HURSH I
(C) wifaeptial w1 WETaa HTT
(D) T S T gHA A

9|, 379 Hay fHEEE o ?
(A) ST
(B) wifasial §
(C) frewadt &
(D) Tt & ==

92. =4 T § 9 fEEE! alfhd W @ g ?
(A) FETSH
(B) U 7] TIEF
(C) v T4z
(D) T=TTe

FdeT—wed T 93 3R 94 H IS TR TEAIU

93. (A) WA
(B) W&t
(C) si¥iarg
(D) Feam

94, (A) 3f==a
(B) &Y
(C) =34
(D)

SET-A
95. ‘muiwr 3 B faar’ 4w W few we A
?7?
(A) FEHE H
(B) ST
(C) wiasaa e
(D) M FdHH ST

96. ‘‘anfasER HE' THH a1 B-
(A) @
(B) g& T
(C) W& @A
(D) IR ST

97. ‘war faRel T’ TH WETR W Y T
(A) HEGA HT
(B) fat s
(C) &a1§ <o
(D) &1 @l

98. o1 M W ¥ Y fHA W A e
(A) TchTicrsh bl
(B) Tehifers ST
(C) g
(D) wfasa=Ta

99, ‘mrn’ W w1 e -
(A) T
(B) H==
(C) ®T
(D) e
100, ‘¥R’ ¥Is% 1 TgEEA €Y 2
(A) TR
(B) TR
(C) v’
(D) TR
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